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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. / A&l &T 40
FT JSITHA F FTAR Fg-qfct A raegFAC T

1. Self-actualization / 3TTcH-TaeewoT

2. Physiological needs / fhaicaies 3TaeTehdr

3. Belongingness and love needs / fd#ama 3R @R fr 3maeaerar
4. Esteem needs / 931 gToIT

Correct Answer :-

« Self-actualization / 3TTcH-fa2eyor

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & TR, 3T FAgHid W AfFaea 1 Hi A7 s1mer Fanfora giem @2
1. Ego ideal / 37§ 3fTaxl (37T 3MgS)

2. Superego / TRTE (FUISIM)

3. 1d / UgTe (31TS3))

4. Ego / 3T€ (37M)

Correct Answer :-

. 1d/ UgaTd (3ME3N)

3) What is the time in a child’s life between childhood and adulthood known as? / STeITaET 3T
FIATHAT & AT T o9 & SAaed A FIeT T HAT 21 82

1. Adolescence / fepNITaE2T
2. Menarche / T3 Ia‘\’i?f

3. Middle childhood / ACT dTeIATdEAT

4. Puberty / glae



Correct Answer :-

« Adolescence / fepMTaE2m

4) What is the term given to describe the sudden ‘aha!’ moment that sometimes helps us solve

problems? / 3TdTeTeh “37gT!” &T0T T qUieT FIA F foT Fi T ug 7T 371247 B, S Fooft-ahsdY gt woTamai
Y gl FL H A FAT?

1. Flashbulb / Fol?T g
2. Insight / 3dsT®

3. Observation / 3Tdclldhe]
4. Deduction / TR

Correct Answer :-

« Insight/ 3/def®

5) What is the term given to denote the ability of a test to consistently measure what it is designed to

measure? / FFHY gfaTor Y averar AT w3 & fw Fler a1 ug Ram a8, 9 sreqeaar & ame
¥ forv 59 fEamse frar aram 2

1. Norms / ATAES
2. Reliability / fad#r@ezrar
3. Reasoning / d%
4. Validity / T

Correct Answer :-

« Reliability / TAGAZIAT

6) Benefits of Inclusive Education are: / GATIe fRram & amsr §:

1. Develops moral and ethical principles only / dhael AT 3R Afaeme Rgia fawfad aar

2. Increases communication and social skills only / had TIR 3 GraATioIh Piere EriGl

3. Increases acceptance and appreciation of diversity only / dhael fafaeadr & Fch?fﬁ 3R g gerar

4. All of the above / Iudad Taft

Correct Answer :-

« All of the above / Iudad T+t



7) The urge to provide care and protection to offspring is motive. / HTAT T SWHTT 3R e
UEToT Flat T TS FfARom §

1. Sex / Al
2. Maternal motive / AT JTTHUIOT
3. Achievement / 3T

4. Affiliation / Gl

Correct Answer :-
« Maternal motive / HTq THOIOT

8) Which of Erikson’s stages of psychosocial development results in the virtue of competence? /

tRFw & AT fAFT & i & w20t 7 ufaanfrar smaen Refaa g g2
1. Trust vs. mistrust / T4#TE T Ta2ma

2. Intimacy vs. isolation / STYSAT TTH TeTaTa

3. Ego integrity vs. despair / 31§ 37E@adT I T

4. Industry vs. inferiority / TS TATH EleAclT

Correct Answer :-

« Industry vs. inferiority / TR TATH AT

9) Which of the following strategies cannot be used by a teacher for a mentally retarded learner? /

Rrate garT AT w0 & #g RAandf (@) F fae Arafaf@a 7 @ e sE-Afa &1 s ad
R ST AT &2

1. Breaking smaller tasks into large steps. / BR HfeT w1l EI@ F ¥ fauiia e

2. Presenting the information to learner using visual aids. / €9 TgH &1 IO R fRremeff (FFTT) P BRI Ugd
DA

3. Involving the learner in group activities. / 9Hg Tfafaferay & Rremaff (FFTT) P AT BRATI

4. Providing the learner with immediate feedback. / Rremff (FFT'{) P! dbTd Ufdfehdl UaH &A1

Correct Answer :-

» Breaking smaller tasks into large steps. / B Biod sl A a% P | I B



According to Good and Power, which category of students are more likely to engage in outbound activities? /

3ooT$ 3R Fad F IHTAR, ol A FE Avh F 3m3eass st F wowa aF Hr fF wemEer
1. Social / HIHATIAD

2. Phantom / thed

3. Successful / THeTAT

4. Dependent / AR

Correct Answer :-

+ Social / HTATISD
11) Specialized teaching strategy geared toward supporting student’s learning is . B & dras #:
ST T & v IR Rflse Raor wehfa gl

1. Writing / o@d
2. Scaffolding / ¥hwifesar
3. Reading /7 UTo

4. Brainstorming / TaaR-#AYH

Correct Answer :-

o Scaffolding / ThwITesIT

12) Which of the following is not one of the main method of deriving traits? / FAfaf@a & & 1 F&0T Yreg
A fr gew A F & v 7@ @2

1. Hypothetical / UTdreheUcTcHh
2. Lexical / enfegd

3. Statistical / HIf&ETHT

4. Theoretical / Hgifcid

Correct Answer :-
» Hypothetical / UTeeheUelcHD

13) Which of the following is true about modern evaluation? / 3Tyfa® Feaiwar & TR # fArafaf@a & @
FIT AT W §?

1. Summative evaluation / q\ldlld\d-lqv did\ﬂiqu
2. Continuous evaluation / Hdd Hedihe

3. Product orientation / 3cUlq 3r331§1|€ﬁIUI



4. Rote learning / €T HIGeT

Correct Answer :-
« Continuous evaluation / &dd Hedlhe

14) Which among the following is NOT the focus in planning and delivering a developmental, comprehensive
guidance and counseling program? / RFIfaf@d & @ Fa1 AW, ca9s ARG 3R WAt FRIwT fir
FeraT 91 3T FaRa S & eae FeT 787 Far &2

1. Financial / T

2. Personal / ST ThaTcd

3. Social / ATATSR

4. Academic & career / A8T0TRAT IR BRI

Correct Answer :-

« Financial / Ta==r

15) Who elaborated an enormously complex notion of natural development under a thinly disguised divinity?

/e T A yeoed oaar & dgd wpfas Rem 1 vh cavs sfed aron F1 Regqa fFare
1. Baldwin / dTeside

2. Erikson / 3ReFq

3. Piaget / fUTSt

4. Vygotsky / aTgaTicEhT

Correct Answer :-

« Baldwin / dTesfaed

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / ‘g 3-1'3?\’-!'\ fraor & AEE
R #1 AR

1.1
2. 15
3.10

4.0

Correct Answer :-



17) The environment in which children grow up will how they think and what they think about. /

Peddrdad st g das _ a<ar § i a5 &9 Sioar § 3R a8 = W §)
1. maintain / SIa eI

2. weaken and disturb / HHAAR AR TXRMA

3. scare / ST

4. influence / gHTfdd

Correct Answer :-

« influence / THIfad

18) Gender division is defined as . /ﬁ’wﬁmaﬁ F T F o forar =
gl

1. Division between male employees and female employees. / W&ﬁ?ﬂﬁ-’?ﬂiﬁﬁﬂliiai & I TS|
2. Biological differences between males and females. /Wﬁmﬁagﬁﬁ?mml

3. Male to female ratio. /Wﬁﬂﬁﬂﬁﬁﬂ&@'ﬂﬁl

4, The hierarchal roles of males and females within society. / THIST & St W 3R Tfgemsit o) YaldshH
thEcakal

Correct Answer :-

« The hierarchal roles of males and females within society. / THIS & Sidifd geul iR Hfga@rss &1 UarHy
Ufep1af

19) What is teaching through deductive method? / fa3rssr fafer &ann frevor FAT B2
1. From macro to micro / Aol T s d&b
2. From general to specific / 9THI Y faRky &

3. From specific to general / fafrg & @rd=a d&

4. From easy to difficult / 3TETA & B dd

Correct Answer :-

« From general to specific / AT ¥ fafRy a&

20) Students don’'t want to learn new concepts whichare . / Qﬁ faemeff st - ﬁﬁ % a =|'§
SayrRomef B FraTr T TEd € |

1. Ambiguous / iTaTdH



2. Intelligible / r&aITer
3. High quality / 98X
4. Plausible / olteh-Torr

Correct Answer :-

+ Ambiguous / GiTaTdH

21) Which of the following statements is NOT true? / fRafefad syl # @ &9 91 9 78 82

1. Some diseases and disorders are a product of inheritance. / $& A1 3R AR ETQHQT"IFT o ¥l

2. Enriched environment enhances child’s development. / HHg dTdTeR0T d<d & [ddhrE & dardl &l

3. All genetic disorders can be prevented by taking proper measures. / 3TId 3UTT &b TH H‘I@ﬂf@?ﬁ GEARY
B NPT ST FehaTT B

4. Children are able to learn more finite skills through play. / ITd Wel & ATEIH & HfAw aRfAT dierer draa
# werH 2
Correct Answer :-

« All genetic disorders can be prevented by taking proper measures. / 3/d 3UTT & Tt Eﬂﬂf@?ﬁ GEARY
® NPT ST FhaT B

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? / Rasr &
HaAeeRs e & Rguia #, 7 afvarens saear 1 987 721 32

1. Operational thought / TfshaTca® faarR
2. Abstract concepts / 373l AUROT

3. Object permanence / ¥ ERIEGII

4. Symbolic thought / UdilhlcHA® TaaR

Correct Answer :-

« Operational thought / EfhdTcA® AR

23) Which of the following is not a concept related to classical conditioning? / RFAfa@T & ¥ Hia W Fanf@
Fesrfe (Rrufafsa uregaen) & w&fa sraumon a8t 32

1. Neutral stimulus / dCEJ 3210

2. Conditioned response / 3JaTd 3refohar

3. Shaping / f&%gor ()

4, Stimulus generalization / 3%I9e HTHTHAIOT



Correct Answer :-

o Shaping / T@%goT (AfT)

24) Each child is unique. This statement refers to the principle of: / TS g7 SHfgedig ?I qg dY-

_ > fhgid e el s e
1. Continuity / IGEGEGI

2. Uniform Pattern / Tch&Tdl

3. Integration / T fcaaehdl

4. Individual Differences / 3 fehe fReetar

Correct Answer :-

« Individual Differences / dafehep ffeaar

25) Similar attributes are combined together by the child to form ./ F Aufurd s
R1 TP 1Y T faRivarsi &) frares s=man simar @

1. Concepts / ITYROTT

2. Letters / 37&X

3. Words / <

4. Judgments / 3] HTA

Correct Answer :-
o Concepts / STdYROT

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / R&fOT® =HI A fFa W & Hfgd w1 I 9= e
T 3N 3T BT ISt oS TR B &

1. Writing skills / oI@el el
2. Scientific ideas / d<TTfaep AR

3. Communication / IR

4. Student activity / Taaref CIE[%

Correct Answer :-

« Scientific ideas / d<Tfas faaR



27) Inclusive education is a new towards educating the children with disabilities. /

gurazh Rreor, o a= @1 Riféa $7 = & ve T 21
1. Demand / AT
2. Approach/m(m)

3. Direction / fa&er (feem)
4. Process / Ufshdl

Correct Answer :-

« Approach / 3UTITH (FTHION)

28) Ignoring of the learning- readiness would result in ./ ST - TuRdr P IueT
& dR TR ufvomy 3

1. Development /ﬁw
2. Maturation / TRUaFddT
3. Improvement / YR

4. Frustration / farem

Correct Answer :-
« Frustration / fArm

29) Self-evaluation by a teacher shows his role as a . | TP R&® gRI qU-Jedih IqDt

_ e ewremiar gl

1. Classroom researcher / e Tnemeff
2. Reflective practitioner / faaR=ia gfte (Rudifdea dfdewrr)

3. Co- learner / Tg-TALTAT (eeTX)
4. Facilitator / UfRr&is

Correct Answer :-

« Reflective practitioner / faaR=ha gfte (Rudifaea dfdexrrR)
30) What does the term ‘Dyslexia’ denote? / 'fSAfRIAT T frd fA=fud wear 82
1. Difficulty in taking notes. / c_-ﬂﬁ\ﬂ o A dhel|

2. Learning difficulty that can cause problems with reading, writing and spelling. / @@ &Y Eﬁi%ﬂlé St Ued,
forga 3R adeh & Taear der A T ¥



3. Learning difficulty with number processing and calculation. / T&IT JHETHIOT 3R I0TAT & AT W@

HiSATS|
4. Specific handwriting disability. / fafre for@rae feegioran]

Correct Answer :-

« Learning difficulty that can cause problems with reading, writing and spelling. / ¥T@= &1 HfSTS S Uea,
for@a 3R ad F FaEar dar X Fadr &

Topic:- General Sanskrit(L1GS)

1) . ™ ™ * w
‘ST SR [SRad 1 hY. 2

) JohicHhH |

, HHNEHIH _ |
, T |

, ATSdHTEH |

Correct Answer :-

2) -
‘ARTRIMEH A Ul &h: ?
1. )



RMHdGH |

1.
2. [ |
N @i |

4?’\'I'IZI'I"‘ilt'Tl:Ll

Correct Answer :-

Correct Answer :-



i |
| TS |
il

6)

AERdaTSN Fd: WNA: Hid BN 95T ?
AT |
e ach

| R |

4,
Correct Answer :-

| TR |



‘T T T3 - SARA TR Fqae R 2

q A |

1

ZIC IS

94|

3.

T=3id |

4

Correct Answer :-

ZIG IS

8) P T L 2
) IR |

,, BT |

y @i |

., raEax |

Correct Answer :-

JTROHERAH |



=R 4T |

=i & |

2.

i v |

3.

=i I |

4

Correct Answer :-

11)

SR Tl ST T F: ?

1. ‘\E ) |



Y Ly

<ITH SAThA |

= =,

Gl |

<3 |

4.

Correct Answer :-

12)

e G PACD I EO R E X 2 I
AT e |

<d |

e e |

—_

Correct Answer :-

i Bt -

G Y&dH_ |

13)

‘Tefd T 5T J: F: ?
2. |



N dad |
4, El%,?LI

Correct Answer :-

Correct Answer :-

I |

15)

A A - AT AR
- GUSHTM |

N ITIRAH |
HETRIHH |
| AlZHH |



Correct Answer :-

AlZHH |

e |

1

2 & |

ey |

3.

- ST |

4

Correct Answer :-

3.
T d
, T g
Correct Answer :-
e 9g |



Correct Answer :-
Ly
gid + Il |

1.
.

, a3zl |
LN
IS |

3.
™
s |
4,



HE 37 AT’ SAH TR RS Sca3 R o Hdid ?

Correct Answer :-

™ s

A TRHATY |

21)

‘AR EH A [EaTad i ?

| ST e

AT HrgH |

2

S EE cET-

I e |
4,

Correct Answer :-

| A e



. 3y |

o1 |

2.

I |

3.

qY |

4

Correct Answer :-

o1 |

= |
2.
-,
3. |
T,

24)

STEET YA Il Sl | g SR JT9 §oM: & ?

ST, STaT &S |

1



L)

T |

2.

qeq: |
3.

& |

4

Correct Answer :-

ST, STaT &S |

25)
ATEHRTATH STHEH dH =hH ?
;|
1.

, g |
Ly
CLIEN
3.

dug: |

4

Correct Answer :-

26)
AR ST G 2
iy



’
AU |

Correct Answer :-

27) . -
2" A Td¥h: &l ?
1 YHT |

) A FY |
3q%ﬁi|

g |
4.

Correct Answer :-
.
1 <lY |

q FISTY |

4

Correct Answer :-



AN
AYd: |

3

, T

Correct Answer :-

30)

‘ISR’ FHRA & 99 ?
| O=q |

_ TERTRA |

) qEE |

| FEEEE

Correct Answer :-

-,

A |



Topic:- General Hindi(L2GH)

1) Ag1 Hag TN M|

<t I Tife go foraa g 9% oig @ Bt
q <N Fefd 3@ &1 9+t w4t § g @iet Wit
FTed gd gaIad Sig AARH- Yg et
Fra g frarafa af ufa 3fa 7 wre= A
e FAYast aadied g gaeR &1 Sl i

oY If Hgd did &I divgl g SIgAfd Hd Sl
He1 B4 36 R & i @ g =fg o)

g g wgd &1 3 91T 31 g R ardll

MR =g wreter M & e M|

YDt ¢ ¢ 1T A919d §9d 9a |l

T WS B R W grefE wag 7 W
e g 1 3t 3 ard sgafa g g
g P TAUS TS oI-THd 81 DI Y|

TR T [ifE e $t 6 @ A g gl

ST Ui FI UgH 12 UD ¢ Y HT 30X Ta133:
U - S A TaTd $I-91 94 TR-R IS I8 22
1. gFER AGT-Uar T €2

2. JFERT 1A el 2

3.gH fpe g & 3T e

4. fohcteT qu @ @I?

Correct Answer :-

. FER F-Far wi B2

2) A41 Hag TN At

<t I Mife go foraa g 9g oig @ Bt
SN Fefd 3@ o1 9+t <41 § B @iet Wit
FTed [gd galad sig ATRH- Yg et
FTa g frarafa af ufy 3fa 1 wre= A
e FAYaT e gt gaeR &1 St

oY I Hgd did &I divgl g SIgAfd Hd Sl
He1 B4 38 R & 9 @ g =fg o)

g g wgd &1 8 911 31 g Rl ardll

MR =g wreter M & e M|

Yedt ¢ ¢ TaTd A9Tdd §9d 9a G|l
WS B AR W gefE wag T
e g 1 3t 3 a1d sgafa g g 9
g P TAUS TS oI-THd 81 DI Y|

TR T [ifg e 6 S A gyl

ST TR HI USHR 14 IR T Y BT IR qarsd:
U - AP & ATAR I 59 upR gu faar o w1 82



1. 3T 4T

2. &3

3. 9

4. dR-dX

Correct Answer :-

e dR-dN

3) AUT Hag T AT

fordt o~ Aife gu fira W g oeig € Bt
S Fefa ga & 3 w4t § & @iet W
Fled gd garad sig ARH- Yg et
w4l gy famafa ofy iy Sfa = A= A
YR FAYa A gR §aUR ot St

oY I Hgd did &I divgl g Sgdfd Hd St il
FE1 B sfe N & a1 @ g1 =g sira)

g g Pgd S & Ja1 $1 g R adll

TR =g e M  Fd e M|

geal 3 TaTd AuTad g9 e Il

q HIEt B AR it grefE wag 7 Wi
Hig= 9@ R ot 3 a1d srgafa g g $h
g B TAUE TGT5 ST 8t BT Y|

TR W AfE Me= 3 I 8 a1 g ual

ST Ui F! UgH A1 ID ¢ Y HT 30X qa134:
U - SIS HIaT S 19 3 3t Ripraa a7 67 82
1. fE&ela

2. gU-8Td

3. ATEA-ET

4. 99

Correct Answer :-

o FATGA-VE

4) BT H9E gt A

fordt o~ Aife gu firaa W g oeig € Bt
S Fefa ga &Y 3 w4t § & @iet W
FIgd gd garad g AMH-I Y @t
Hral gy famafa ofy iy Sfa = are= A
RN FAYa A gR §aUR ot St

oY I $gd did &I di-gl g Sgafd Hd Sl
P8l B3 3fe R F AR W g g |
g g Pgd ®I19 & Ja1 $1 g R adll



TR =g wreter M § & e M|

Yedt ¢ ¢ TaTd A9Tdd §9d 9a G|l

q At B AR it grefE wag 7 Wi
e+ g 1 3t 3 ard sgafa g g
g P TAUS TS oI-THd 81 DI Y|

TR T [ifg e 4 @ A g i

ST U FI UgH 12 ID T Y FT 30 Ta133:

U= - WRd Ufeaal § e & qrar-fuar 3 39 &= @it
1. TP 3¢ dTeleh &1 T

2. Fifh dreleh Tdeh T&T ATl

3. FIfch drelep 37T AT|

4. TP dTeleh T LIT IRT &l

Correct Answer :-

o Fifp dToleh T LT IIRT &l

5) BT Hag TN At

<t I Mife go foraa wg 9g oig @ Bt
q S Fefd 3@ o1 9+t w4t § § @iet Wit
Fed [gd gaIad Sig ATRH- Yg et
FTa g frarafa ofy oy 3fa 1 wre= A
TN FAYasT aadied g gaeR &1 Sl i

o I Hgd did &I divgl g Sgafd Hd Sl
®gT B3 e N & aR W &f 71 wa |

g g Hgd B9 & AT B g R ardll

R g SRS M § Fd WHS T |

Yedt ¢ ¢ TaTd AaTdd §9d a8 |l

T IS B ARA A IrefE wag T
ed g@ R o 3 ard srgafa g g S
GAE ST AR I9Ts 994 81 DI Y|

TR T [ifg e 6 A gyl

SUYT Ui FI UgH 12 ID T Y FT 30X TaA133:

R - Ui ® St iR “[gd garaa” &1 Mied Af ®T R 2
1. A 3R @l

2. AT AR AT

3. e 3R fOerer

4. PaeTl 3R =T

Correct Answer :-

19

o AT AR AT



6) BT HaE T AT

fordt o~ Aife gu firaa W g oeig € Bt
S Fefa ga &Y 3 w4t § & @ret W
Fled gd garad sig A1RH-d Yg @t
Fral gy famafa afy iy Sfa =1 are= A
e FAya aE gR gawR ot sidt

oY I Hgd did &I divgl g Sgdfd Hd St il
FET B sfe NI & A1 @ g1 =g sra|

g g Bgd S & AT S g R adll

TR =g wHIeT M  Fd e M|

YePt ¢ ¢ TaTd AaT9d §9d 9a Pl
TS B IR et grefE wag 7 Wi
Higw g@ ¥ 3t & a1d srgafa gH g~ S0
g BT TAUE TGT5 SI-19d 3t BT Y|

TR W AfE Me= 3 I 8 a1 ual

ST UL H1 UgH 19 IR T Uy o7 IWR qarsd:
U - Ui § $id fas! dhiy @138 82

1. 19T

2. MY

3. AT

4, fOar

Correct Answer :-

o MUT

7) O41 Hag T At

fordt o~ Aife gu firaa W g oeig € Bt
S Fefa ga &Y 3 w4t § & @iel W
Fled gd garad sig ARH-3 Ys et
Fral gy famafa afy iy Sfa =7 are= A
e FAya 7 gR gawR ot st

oY I Hgd did &I di-gl g Sgdfd Hd St il
o1 B3I 3fe R & an Qe 2 i s

g g Fgd S & JaT S g R adll

TR =g e M & e M|

Yool & ¢ Tard arad g9d 99 ggPll

T UIE B AR A gefE wag T
Higw g@ ¥ 3t & a1d srgafa gH g~ S
g B TAUE TGT5 ST 3t BT Y|

TR W AfE Me= 3 T & a1 yall

ST UL H1 UgH 19 IR T Uy o1 IWR qa13d:
W - gRIIST ATdT T AP 3 W 82

1. fepeteprdy

2. ;e Hr I ard



3. oTelhIY
4.4 O fr 3marst

Correct Answer :-

o Al H @AY ard

8) T BT gERT A A 21 I5 AR & faroft-gdf B W R o gl ok 3% Sie-01 fiuf o1 g 21
9 BI¢ A W &1 9 YR | FieT o1 Gl 8- S, Aehad SR &férmft A Y € 3w ugifeal @ W 81 & FRU
graTaTa & fore srewa gifw €, Safe a8 W1 31 Ue I & e waft el 3511 39 sAw Bie-Bie RIS
TH-gIR | 3@ 3R W7 78 &1 37 TR-I4 § 9 faRy 0 A ST §- ST UM § ‘Hehgi~ar, geaadt HRT
# 3ifvrer 3R SRl wrT § dieitrar | sifRier @Y ey tdw € 9gd Rl 9o Rt dfge-aipfae a9
& 3ATED-T BT P5-fAg T TS aredt $a1 7d g & FH-RAF Bt 3yayd IAH 1 R 3Ry gaim| uied!
TraTe) $91 gd A a8 S9fd o9 W ugd 1€ f1 N F I-ord $) 0 S 3Rery ST W@ul-gu 7 orer 2
UReT & I BT 3 811 & ol a4 Ugd ‘ADi-ar 3 "Sfer wR Amhau H- f&an| ‘aeifar @t et
wrel” fHani = & 'vd=y arel @ 9gd ot 1 TAT 7 27 9ul a9 Wiel’ Ire &1 goradn fharl 3 o 3Dt
RIS §% | 39 W & a6 ff AfSF-aiRepfas @ F Td=1’ &1 Hga 941 I8T1 404 3.9d T &1 Wroy g3 A
3R 427 3.9d A & fayufs qife o fAaR® Wel &1 97 goi| 39 UoR Wel 7 - garawiT & S+ &1
P Wy $1 fAfifteT 3 & sue o wR efaeiie worg &1 e usHr w@ryfae ot

ST TR P UgHR 12 TS ¢ U 6T 36X JaTsd:

U - A 3t Wod A foraq adf qd grife wiet &1 & gai?
1.23 @y

2.32 a9

3.100 a¥

4.25 a§

Correct Answer :-

e 23 W
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W - aeF H FEF g@nr R o @ e
1.eI5

2. q@r

3. gzt

4. st

Correct Answer :-

24)ﬁmarers'a%1friﬂ€n
ﬁrchawm%qsrﬁwaﬂ'srsm{%aﬁu
q o Fefa g $r o St & & anh A
Fed e seardd JAe ATANT-Hl S AN
Frat g Ramafa ofe ofFr afe & #resr A
e feaer Aadea eR gae A S

A @ FEa Aer B Aeel q STgATT F TN
FgT R 3¢ RT F AN G &f A e
gfer gfer e FiT ¢ AT F E R ATl

AN A FHET IR J Fd THAS A
m%%mmmﬁmu
amﬁaﬁmmﬁrmmaaﬁ%
mﬁwﬂvaﬁrﬂaﬁmﬁaﬁaﬁﬂﬁu
memmaé‘raﬁual
mmmﬁmfrﬁﬁmawu



39T YSHIY FT TgHT Al IS AT TRA FT I qaATSA:
Tee - dTeh fFE FROT ¥ Wolad A4 ST @1 872

1. 38 gy Ui B

2. 38 3T eI Weld ¢ & @ B

3.38 Rew @ Ra & @& &I

4.30% U f@ela 7@

Correct Answer :-

« 38 e @ RE & © 2

zs)ﬁmam-gaavﬁinfn

et ) AR qur R o7 7 areg ¥ oXN
q S Fefa o A ¥ T4 w@F § A A
FGd e sgardd e ATIANT-Hl S AN
Frat g Ramafa ofr oy afy & aresr 4
e Pfae #Aaaea R g Ay S

A | FEd AT B flegl G THATT Fa SR
o1 F 5 Rw & AR doar & aff Sma

g 9far Fea FiaT ¥ AT F F R aral

AN Ag SrEEr MY q Fd FHS A

et & & 79T FUEd g9 qe AGHAN

q At F AR d e Fwag T @gh
Alee 7w RE 1 ¥ ol FgAT g g dgh
g Fo ToIG TGS AR & FY YA

X F AfE e dr |/ & Aar g q@

39YFd YSHIY FT TgHT Al IS AT TRA FT I qASa:

Yol - JEie Y UfFd ‘AT F § R A F awr &1 e g 37
1. 90d

2. O

3. dTcTh

4. TEAT

Correct Answer :-

zs)ﬁmmgaa:ﬁfm

frelt 3 A qu Raa a3 77 areg & o
q S Fefa g A ¥ T4 w@F § A A
FGd e sgardd e ATIANT-Hl S AN
Frar g Ramafa ofr ofFr afy & aresr 4
e PeEa Aaned gR gaas A S



A | Fga A B el G TgATT Fa SR
wﬁs%ﬁv%#&@mﬁaﬁml
gfar gfar Fga Fla § AT F R awl
AN A AT MY J FI TAHS AT
m%%mmﬁmﬁmu
mﬁaﬂmzﬁ'@"rmma@ﬁél
mﬁwﬁvaﬁﬂaﬁmﬂﬁaﬁaﬁﬂ?}u
Wmmmamﬁraﬁum
mmmﬁmaﬁra’rﬁmawu

3YYFA IS FT IGHT A Y& AT G HT 3 T8

Yo - 9EhIer H T4 d1e% fhE YFR AT W] 872

1. Feh TehT

2. ATdIhY

3. S[FR
4. IMAT

Correct Answer :-

27)ﬁmmaﬁ1ﬁa’l€r|
ﬁﬁﬁwmﬁwmmwm%mu
q St FEfa oo it ol S2F £ T @ A

mmmaﬁ%mﬁwa"rsﬁaﬂm
Frat gu Ramafa ofr ofF afe & ares adn
e Bs[ae Aasled g goeR 1 S|

A | Fga A B el G TgATT Fa SIAT
%’rﬁsﬁﬂv%mmﬁaﬁml
gfar gfar Fgd Fla § AT F R awl

AN A FAGT MY J FA TAHS AT
m%%mmﬁmﬁmu
amﬁaﬂmzﬁ'@"rmma@ﬁ%l
mﬁwﬂvaﬁrﬂaﬁmﬂﬁraﬁraﬁrﬂ?}u
meﬂﬁmﬁraﬁﬂm
mmmﬁ:ﬂuﬂaﬁra’rﬁmawu

3YYFA IS FT GGHT A Y& T YT FT 3 T8

WoeT - ugier A I “ofd anfaeret off A F oS W oy B2
1. qfH

2. {91

3.5

4. =é

Correct Answer :-



zs)hﬁg‘aavﬁinfn

frelt v Y qu Raa a3 7w areg & o
q S Fefa g A ¥ T4 wF § A A
FGd e sgardd e ATIAT-HI S AN
Frar g Ramafa ofr ofFr afy & aresr 9
e feEe Aawted gR gaas A S

AT | Fed A H ool J STGATT Fa SAT
Fe1 F 3 R & AN daar gf aff s
gfe gfer Fgd $le § AT F AR al

AN Ag SrEer MY q Fd FHS A

At & & 79T FUEd g qe AGHAN

q A F AR Wl o Fag T st
Aigar 7w Ra A1 T aid sgaAfa gfa g dsh
gﬂgmmmmé’raﬁu@

X Fw AfE Mue A/ & Arar g q@

39T YSHIY FT TGH Al IS AT TRA FT I qaATSA:
yeeT - @t TaTer gt A3 F FA g &2

1. RITH W W

.39 & 0 W

3. Wold WX

4.9 4l @

Correct Answer :-

29)ﬁmm§‘aavﬁin€n

et T A qu R # 7@ 3¢ & BN
q o Ffa aa $1 o S &} anh A
FTed e FgaTad g AAA-Hr 7§ A
Frar g Ramafa ofr o af & aresr 4
e Bae Aaae g g A S

AT | Fed A H oflegl J STGATT Fa ST
Fe1 F 3 R & AN daa gf aff s
gfe gfer Fgd $le § AT F A al

AN Ag SrHEr MY q FT FHS A

et & & TaT JAEd g6 WS AYHIAN

q A F AR W aR Fag T st
Aigar 7w Ra A1 ¥ aid sgaAfa gl g dsh
gﬂgmmmmaaﬁ%l

¥ T AfE ey Fr @ & A@ar q g7

39T YSHIY FT TGHT Al IS AT TRA FT I qASY:
geeT - ‘geers & ot Ft 2



1. Brell 3R A
2. &t 3R A
3. 9l 3R rell
4. IU& 3 gl

Correct Answer :-
o odl 3R A

30)ﬁmmaﬁ‘aﬁa’|€n
ﬁﬁhwmﬁwmmwm%mu
q St FEfa qor it 3l ST £ T e A

mmmaﬁ%mﬁwa"raﬁaﬂm
Frat gu Ramafa ofr ofF afe & ares A

e Fs[ad Aasled g goe” 1 S

A | Fga A B ofieel G TgATT Fa SIAT
waﬂ’rs%ﬁva:mmﬁaﬁml
gfer 9fer e FiT ¢ AT F F R aral

AN A FAGT MY J FA TAHS AT

TeH & & 7919 F9Ed §6d qS AGHEI
amﬁaﬂmzﬁmmmaaﬁél
mﬁwﬂvaﬁﬂaﬁmﬂﬁraﬁaﬁﬂ?u
memmﬁaﬁﬂm
mmmﬁ:ﬁuﬂaﬁra’rﬁmawu

3YYFA IS FT GGHT A Y& AT G HT 3 qaA8A:

TR - AT o a1 F qU A W F4T gl T A faam 4r?
1. AE d&a r

2. 4TS dea Bl

3. | dead &l

4. gig deat &

Correct Answer :-

o AT ggd @

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gyardt” (gtu) sfiaf & 3y ar qwse €2
1. It does not need oxygen to survive. / 38 Sifad It & fow @St I MaTdaT & aidrl

2. It is able to tolerate a wide range of altitude. / g TS &I Th ﬁw 8[@?” Pl Teed I H
[eTH BT &



3. It is able to tolerate a wide range of PH value. / IJ& PH HATA &fr foreqa AT Pl od P H &
g &

4. It is able to tolerate a wide range of ambient temperatures. / Ig URARN ATUATAT HT T faEgd
HGT Bl Hed Il H HETH BT &l

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / Ig& TRAM ATTATAT HT Th ﬁﬂ-_cﬁ
HEE Bl Tl IA H FaTH el &

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.

3. Denial of efficacy of rituals.

Frafaf@a & @ o9 as wf v I udd Y & g wmar=g ur?

1. TURT 3R UNT B} TR Fr | ==

2. 351 & SRPR F ufa Igrftar
3.38MI B YUTHTRGT I STPR

1. 1 only / Phad 1

2.1and2 / 1 Td 2

3.2only / Phad 2

4.1,2and3 / 1,2 Td 3

Correct Answer :-
« 1,2and3 / 1,2 TT 3

3) The position if the sun, the earth, and the moon are in straight line is called: / %I!f, qza‘t 3R 5w P
et YT # g1 W R F FeT wTar 8:

1. Cliff / fFel®

2. Conjunction / ?g%

3. Seiche / STelgled )&

4. Syzygy / Fiafagfa fig JRsisiai(

Correct Answer :-

o Syzygy/ gﬁﬁ'ﬂﬁ ﬁfﬁg Rssia(



4) The celebrated monarch known by the epithet “"Devanamapiya Piyadaasi” was: /YRS J9Tc St SUTfe
“a g RgeRit 9m § o[ o 3

1. Kanishka / eIt

2. Ashoka / 37211h

3. Chandragupta Vikramaditya / Iga[@ fashaTieeT
4. Akbar / el

Correct Answer :-

« Ashoka / 3720

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? / &fas& &1 aHT
FHAMfAEare 3R 3R ARG F ¥ W fega a1 3k 39 & yorenfat @ wurgar # of,
o @ v off gowqnl qEdt Fla @ 42

1. Taxila / d&TfRAe
2. Mathura / EFT?;RT

3. Pataliputra / UTCellgd

4. Sakala / Hdbldll

Correct Answer :-

e Mathura / HYI

6) Under which dynasty, earliest inscriptional information on land grants is provided? /

fra Teraer & e, A e W Faw 9YH RAaeE SEHf yere iy S 82
1. The Mauryas / A

2. The Satavahanas / HIiddigd

3. The Sakas / R[h

4. The Guptas / I8

Correct Answer :-

o The Satavahanas / Hlddiged



The Minimum Support Price was introduced in India in the year . | sgAdH

THYT Hed 9Rd 7 a¥ # der T A A )
1. 1964

2.1984

3.1974

4. 1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / SR FT TF IHeJhdl Wolel AT 57

1. Exports equals imports / GRIGEEIRIG R B RICE S

2. Exports must be greater than imports / @aTd 3mad & 3% g afke

3. Increase quotas / GArARGIALY

4. Imports must be greater than exports / ot &r Jelel A T 3RS B AT
Correct Answer :-

« Exports must be greater than imports / faata 3mara @ 3f® o aifke

9) aimed at providing credit or loan and other facilities to the small and
marginal farmers, agricultural labourers, artisans and small entrepreneurs in rural
areas. / & g FHT & F B AR Ha e, F Aoy, FHEERT sk

BI 3R B FOT AT HOT IR 3T FRAYUTT g FaT g

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgTeHT el J18Tg ATHIUN ISR TRET
SHTAfTaH (F)

2. Prime Minister Rural Development Fellows Scheme / TYTTHAT ITHICT AR Sell JlStar
3. The Rural area Regulatory Board / TTHIOT &7 A GIES
4. The Regional Rural Banks / &HT IMHIT S

Correct Answer :-

« The Regional Rural Banks / & qmefior g

10) What type of stream pattern develops on a dome type area? / T YR T 39ag et 3_133
* PR & a4 & Qe aar 2

1. Radial / 30 (XA3T)



2. Parallel / FHATATAX

3. Dendritic / GATIAD (F&TTHR)
4. Trellis / STell]AT

Correct Answer :-

« Radial / 30T (X3Ter)

11) In which river valley hominid fossil has been discovered in India? / ¥IRd # f»y 7dr ardt &
fRfas Shana fr @ i 71 B2

1. None ofthese/éFlﬁ o Ehéré EE|
2. Ganges / I

3. Indus / ﬁs’g

4. Narmada / =T37el

Correct Answer :-

e« Narmada / c_-l'clfl?ﬂ

12) Who reviews the distribution of revenues between the State and Local Governments on the one
hand and between rural and urban Local Governments on the other? / T& 31T =¥ 31X Ta=iT
TWERT & i AR gl 3R aefior 3k aedt Tuely W & & aeed F Rawor
FHYET FleT FIAT &2

1. District Finance Commission / fStelT fa=r 3mater
2. Union Finance Commission / e faa 3T
3. State Finance Commission / Tsd T 3TTeT

4. Zilla Parishad / foterm ufRwg

Correct Answer :-

« State Finance Commission / T faa 3mayer

13) Who is the head of the Indian Republic? / AR 0T & bt FiT &
1. President / Tl'g'clﬁ
2. Prime Minister / TTAFAT

3. Parliament / §IE



4, Judiciary / =ITIUTToTehT

Correct Answer :-

« President / ITFUTA

14) Who among the following are not the women Presidents of Indian National Congress? /

fmafaf@a # ¥ sla ardw 8T FRw Hr Afger sreaar 7@ 42

[N AN

1. Kamala Devi Chattopadhyaya / GEEEEel 0] dCCUTedry

2. Aruna Asaf Ali / 379U0TT 3% 3Tl
3. Annie Besant / Tl 93¢
4. Sarojini Naidu / &S a19g

Correct Answer :-

« Kamala Devi Chattopadhyaya / G TCIUTEAT

15) Who is the author of “Deschooling Society”? / "3 THfaT A" F d@® Hia &2
1. John Locke / Siied offdh

2. Jacques Rousseau / St w4l

3. Jean Piaget / Sl TOaTSl

4. Ivan Illich / SdId $i§|€|

Correct Answer :-

o IvanIllich / Sdid $i5|?-|

16) Who said that, “Non-alignment is more or less a residue of historical circumstances, we cannot
align ourselves with the West, with its colonialism, and there is no question of course of joining the
Soviet bloc”. / et FgT &, “arefacdaran, wensrer Mg aRTPufa=At &1 3w @ w1
AV B, ¥ T@F ) 3ufaerare are aRew & @iy s @ g, AR @fdwa e & afw
8 F1 F§ Farer & w7 F1”

1. Nehru / ag&
2. Krishna Menon / 80T HAelel

3. Tito / feer
4. Nkrumah / =hHATE



Correct Answer :-

« Krishna Menon / §tUT A

17) Who is the overall in charge of the efficient and fair conduct of elections in the concerned

constituency?/ﬁm Aae a7 & ﬂﬂm & ?;TQW 3T AsueT HETed F AT THY ST %?
1. Polling officers / HAdGIe 3TTRIY

2. Returning Officer / faaraar (Refeter) 31fsry

3. Presiding officers / Tl 3TARRY

4, Visiting / 341711@?5

Correct Answer :-

« Returning Officer / fdarasr (Refder) 3rfQesr

18) Who was known as “Hazar Dinari”? / "gaIR f&@aRI" & ® & &l = d1d A2
1. Balban / deldel

2. Razia / Ito4T

3. Mallik Kafur / #’fereh &g

4, [ltutmish / Sedd Ter

Correct Answer :-
« Mallik Kafur / #ifolh THT

19) Finding the relation between “altitude” and “temperature” with the help of given examples

happens in which approach? / f&T 1T 3grEoi #if Ag & "FArE" iR "duAE" F T FEU F
9dT 9T 39 39TeTH A g T §: -

1. Concentric / Hehigd

2. Chronological / mﬂiﬁﬁzﬁ
3. Inductive / TITHATCHD

4. Deductive / fastarcas

Correct Answer :-

e Inductive / 3TITHAICHD



20) In a Parliamentary form of executive it is essential that the Prime Minister has the support of the
majority in ./Wm#wmw%ﬁmﬁwmm
# e

1. Rajya Sabha / qTTHAT

2. Parliament / §I¢

3. Lok Sabha / clicha T

4. Vidhan Sabha / faararaaT

Correct Answer :-

« Lok Sabha / SNepgAT

21) Receiving, responding, valuing, organizing and characterizing are the levels of which of the
following domain? / YTcd &¥aT, UTATHAT ST, AT HIAT, STATRAT FIAT 3 qofeT FIT 580
AT F T T-

1. Affective / HATdIcHD

2. Revised Taxonomy / M Sraarar
3. Psychomotor / Hel: U

4. Cognitive / TIATATCHD

Correct Answer :-

o Affective / HTdIcHD

22) During the Mughal rule which of the following traders came to India first? / HaTel ATHA F
ghrer farafaf@a & & &l a1 st e sRa mar 9

1. English / 373rSft
2. Danish / 8faQr

3. Dutch /39

4. Portuguese / l37-‘1'«'1'!7-‘1’[

Correct Answer :-

» Portuguese / gé’«"l'l?vﬁ



is a system of government in which the power is divided between a central authority and
various constituent units of the country. / TSR A TF Yorely § SHH Far # v
FE wiftsor 3 o A AT gew sHEa F fiT Qanfea fFar smar &

1. Decentralization / TddhegIepoT
2. Centralization / hgIep<0T

3. Federalism / €T

4. Democracy / AT

Correct Answer :-

« Federalism / @EdlE

24) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / wF yfhar & oad
& X & R R avgat & waiee, siswor, aiags, &R sk faor afae @

1. Rural development / JITHT0T fareprar

2. Rural marketing / JITHTOT fagore

3. Agricultural marketing / ?fﬁ ot

4, Agricultural networking / ?fm Seafar

Correct Answer :-

» Agricultural marketing / zgﬁr ot

25) The Planning Commission was set up in ./ TYSTEIT ATANRT Y TYTIAT HqHrag
ot

1. 1960
2. 1940
3.1950
4, 1945

Correct Answer :-

26) The evidence of pit dwellings have been discovered from which of the following Ancient Indian

sites?/ﬁmﬁﬁaﬁ#ﬁmmaﬁwraﬁ#maamaﬁrmgé%?



1. Lothal / ol

2. Burzahom / W

3. Ropar / qUS

4. Kalibangan / STelTeIaTT

Correct Answer :-

« Burzahom / gsi??m

27) The most prominent challenge faced by a social science teacher is: / AT Aaer s &
T FE 9@ et gl

1. Inadequacy of text book and handbooks / UTST J&EIH 3R gﬁ-ﬁﬂﬂ}ﬁ & 3TITEdT

2. Inadequacy of in-service training programs / HdThTeiled UTALTUT HRIGAT HI 3TITHAT

3. Lack of proper evaluation tools and techniques / 3fdd EE(F’-IT&»T-[ 30T 3R ddheltl P AT
4. Insufficient time to attain long-term objectives / SreelTeld 321 &1 uifdr & forw 3muata wo

Correct Answer :-

« Insufficient time to attain long-term objectives / GreldhlToldd 3231 I UIfd & forw 3uaTg a7y

28) The most suitable approach to promote interactive environment in social science class is: /
FATaF e fr Fam & WER HarereAs IRaw F FeEr & F A g9 3ugTd
Tieewor gl

1. Frequent testing / T gdiafor

2. Showing documentation / GEdTdST GRIAT

3. Lecture and explanation / TITEATA 3R TAETHIOT
4. Cooperative learning / H&hII TQAITH

Correct Answer :-

« Cooperative learning / TEHRT JTAITH

29) The method of inquiry-based learning which gives students time and support, they can pose
original question and investigate through their own methods is known as: / SITe-3TenRe a9
& geufa st ol # gHT AR FAST yge w7 OEd 3 qT v F 3mrT gHera
T F dOF F AT ¥ AT WA &, P [AET F T H S F4m g

1. Structured inquiry / T ST



2. Conformation inquiry / Ta&qor Sra
3. Guided inquiry / R sira

4. Open inquiry / Q?'ﬁ Srdc

Correct Answer :-

« Open inquiry / tgaﬁ Srdc

30) The Village and Small Scale Industries-Committee are also known as e 3R
oY 3gAe-afafa H & 0 7 oft Frr 1 B

1. Desai Committee / é}l‘lé' afafa

2. Krishnan Committee / o0T FTATA
3. Karve Committee / Td G

4. Rao Committee / 1d FTATA

Correct Answer :-

« Karve Committee / &Td AT

31) The method that does not help to develop critical thinking skills among the students is: / g
faftr s ol & dw Al W Fhra REfd FE § Aag a9 wE R gl

1. Rote learning / o€y fafdr 3rfQera

2. Project based learning / URIATSAT 3R QA9
3. Collaborative learning / E%'Eﬁ'ﬂ'q;ﬂ‘f 3T

4. Self-regulated learning / TI-fafaafda fQer

Correct Answer :-

« Rote learning / ®SEY fafar 3rfera

32) The demerit of problem solving method is: / HAEAT fAarRor A #r T gl
1. It is purely individualistic in nature. / J& Uepld a ﬁf‘\’l@' w0 § gfharer

2. It brings affective changes. / I TPRICHD URAAA ATl &l

3. It does not help in easy assimilation of knowledge. / I& < P AT T FcHATT A A Ace

eI AT ©



4. Tt does not develop power for critical thinking. / I& gt dal & foIw &7ardr fAwfad a8 &
gl

Correct Answer :-

« [t is purely individualistic in nature. / Ig ‘;I?fﬁ 2} ﬁf?l@' w7 O Iihardr g

33) The Government can present demands in the middle of the financial year if it feels
that more money is required than estimated in the annual budget. / TX&R AT a¥ F AT H

#r AFT (BATS) Ggd FT Fahell ¢ IR 3§ oorar ¢ & aifds sore & g @
IF uaT A ATRIHAT ¢

1. Complementary / Ich
2. Need — based / 3TaIhdT-HTHTRA

3. Mid — term / ALITITY

4. Supplementary demands / 37Jqch
Correct Answer :-

+ Supplementary demands / 3JqIH

34) Which one of the following is not the nature of social science? / fAFafaf@a & ¥ =i
AT T fr ghfa «dt 82

1. Study of man’s development through ages / ﬂjﬁ a AT & O o1 3regga
2. Study of human relationship / HTAd TTYUT HT JCIITA
3. Unrealistic course of study / €I HI ATATIATET UrodshHA

4. A unique combination of various subjects / Taffiea fawat &1 T 3icfor IS

Correct Answer :-
« Unrealistic course of study / €I &I 3Ty UredshH

35) Which one of the following is measured through CCE? / wafaf@a & ¥ Fd ddis &
HACTA § AT T 87

1. Physical and motor development of students only / hdel BTAI &I ARIND R ATATHD-TadT
faepra|

2. Scholastic and co-scholastic achievement / adl Af&TR 3R W-m 3T

3. Co-curricular achievement only / hddl H&-UTSThHA ST |



4. Gradients of scholastic achievement only / Ppad Afdrs suateT & 3dR-dald|

Correct Answer :-

« Scholastic and co-scholastic achievement / &ae Af&IHd 3R TE-ATdE 3udfey

36) Which schedule of the Constitution prescribes a list of 18 functions to be performed by the urban

local bodies? / FfatTer #1 frw T & ergdr Tueiy fawmal @R fFo s arer 18 Frf
= Auifa & a$ 82

1. 12t/ 12t

2. 9th/ ot

3.10% / 104t
4,11t 7 11t
Correct Answer :-

o 12th/ 124t

37) Which is the most suitable philosophical approach that is capable of inculcating absolute values
among students through the teaching of social studies? / dg HiT A1 ga@ 39gFd gneifas
m%sﬁmﬁmmma:ﬁma:mw#ma:mwwwrma
A A FaH A7

1. Realistic approach / JATTaTET Ti¥epIoT
2. Idealistic approach / 3TETaTdr gT¥ehI0T
3. Naturalistic approach / CF—Eﬁ?IIa TT8eIoT
4. Pragmatic approach / TITAEIRdh ETEHIOT

Correct Answer :-

« Idealistic approach / 3TGRTaTGI Tf¥eproT

38) Which is the Lightest layer of the earth? / ?«Tﬁ A FIN goh! Wa FiaT @ 82
1. Lower Mantle / <l (MR )dAce
2. Upper Mantle / U (UTARR ) Hdl

3. Crust/ ¥ UUcT (3gcel)
4. Core/ IS



Correct Answer :-

« Crust/ 3 Ul (HUc)

39) Which of the following methods is capable of enhancing psycho-motor abilities of students? /

@ & & sl @ A oml i ARE aaaEt F1 g F TaF §
1. Simulated method / PHTIA AT

2. Work experience method / Gop) AT afer

3. Lecture method / <aT&dT fafer

4. Demonstration method / U fafdy

Correct Answer :-

« Work experience method / I AT fafe

40) Which of the following is not the educational objective in the teaching of social studies? /

fAfef@a # ¥ sla aow sraas & Raor 7 AdF 3587 a8

1. Preservation of democracy as a value system / Hed WOTTell & FT H dlhcdd bl TI&T0T

2. Creating and maintaining democratic citizenship / ol AWTIRGBAT Pl fAATOT e iR 38
PIIH IGAT

3. Conquering the territorial jurisdiction of neighboring countries / TSRt *if & PR &9 W
faera ura @ar

4. Peaceful co-existence of people in this earth / 38 Gt UX oalt o Qﬁﬁl’f{f"f ge-3Tedca

Correct Answer :-

« Congquering the territorial jurisdiction of neighboring countries / TSIl &If & JUPR &F W
fasra ura &eer

41) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

Rt o & B ToR &1 PR B 6a ¥ T Qe & AT ¥ o S S ¥
1. Primitive substance agriculture / 3fa U1 oy

2. Extensive substance agriculture / STqeh T&re P

3. Extensive commercial grain cultivation / €10 dT{OTTadh 3TATol I Wl

4, Mixed farming / T8 a @l

Correct Answer :-



« Primitive substance agriculture / 3fH Tery Hiy

42) Which of the following dynasty was ruling in India, when Alexander invaded India? /
frafaf@a & ¥ la 91 ToET 9RaT F aEeT T @I 91, I9 AFR F ARG W IMFHAT
far?

1. Nanda dynasty / ¢ aer

2. Shunga dynasty / ‘\’PT ar
3. Gupta dynasty / 99 aer

4, Mauryan dynasty / FI Ter
Correct Answer :-

» Nanda dynasty / e g

43) Which is recognised as one of the first environmental movements in the country? / & &ar £ )

e TATaONY AR # F UF & T A AIAT 9T 87
1. Chipko Movement / TRITepI 3TTeTerel
2. Kisan Movement / Top&Te 3TTeTelel

3. Lok Satta Movement / Slh &l 3T ioled

4, Narmada Bachao Aandolan / cldflql T3 3-|Io-c\\lc»|¢|

Correct Answer :-

« Chipko Movement / fITUe! 3Migiere

44) Which among the following is not a scoring tool to evaluate the quality of students? / ot $ir
Tl FT Hediwha a0 & v famafaf@a & & Fla ar =T saaor a8 82

1. Rubrics / ¥fsh

2. Observation / 3Tdcllehel

3. Checklist / ehferee

4. Rating scale / HedTehed YHATAT

Correct Answer :-

« Observation / 37dellche]



45) Which among the following is one of the first commercial banks established in India? /

farafaf@a & ¥ sl @1 9Ra F e yuaq afoas 36 § @ =
1. State Bank of India / AR TeT dd

2. Bank of Hindustan / & 3{T% Wﬂﬁ

3. Bank of India / 6 31T i

4. Central Bank of India / @RAW d& 3T ‘3%'5”

Correct Answer :-

« Bank of Hindustan / & 31T% i%fg}_(llal

46) Which one is not a characteristic of summative evaluation? / &1 # ¥ i ANHAS
HAediwa @ v fadwar @@t 87

1. It is done on a continuum / 38 TH AT & IMYUR W fmar S gl

2. Knowledge of results is not possible / GRUTHAT Pl AT FHT el &l

3. It is used for promotion / 3YHT IUUNT Hhad YR & forw fwar Sirar 3

4. Tt is having a judgmental attitude / T8 T 3TAIHIHE 3T (U g

Correct Answer :-

« Knowledge of results is not possible / TRUTAT & AT TFHT 9T ¢l

47) How many Tirthankaras are in Jainism? / 3T & & fFaa ddsr a2
1. 24

2.4

3.34

4.14

Correct Answer :-

.« 24

48) Who were Manu, Narada and Brihaspati? / #e, IRg 3R JeEafaT FiaT
1. Mathematicians of ancient India. / YTl ¥R & IfOTd<T|

2. Jain scholars. / S g



3. Gods of Vedic religion. / dfge a7 & Sadr|

4. Law givers of ancient India /EI'I?ﬁFr AT & AMIPR|

Correct Answer :-

« Law givers of ancient India / Ul HARA & ATHRR|

49) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | WU AifEh geE F RN @ A vAEger S ™ef e serwErgl
1. Depreciation / HEAGH
2. Revaluation / §id{eaTehed
3. Re-evaluation / e:- FHeATehel
4. Devaluation / T edd

Correct Answer :-

« Devaluation / 3TddedeT

50) National Rural Health Mission in India was launched on ./ mﬁmﬁum
Wy iz & o 3= fooar mar AT

1. April 2010 / 38T, 2010
2. April 2008 / 30d, 2008
3. April 2006 / 30, 2006

4, April 2005 / 3{Ud, 2005

Correct Answer :-

« April 2005 / 3{Ud, 2005

51) Which economic system shows both the characteristic features of capitalist and socialist

system? / B 3t 3w gomelt yshtard! sk gursardt yomet 1 g1 fafkw fatwarsit «i gxiidl 82
1. Planned economic system / faaifora 3nfde gomet

2. Command economic system / 6,1 3t gomelt

3. Market economic system / SITaII{ 3 goTelt

4. Mixed economic system / T nfde gomel

Correct Answer :-



« Mixed economic system / ff&a 3nfdes gorrelr

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi (Chirag

of Delhi)’? / Rrecht sxawyr & fFw 9fdqy g da F “FREr-v-ged (Redh #1 frmn)” &
A @ ST ST 9T

1. Abu Ahmad Chisti / 37¢ 3&de e

2. Shaikh Nasiruddin Mahmud / & FTHFEA AHG
3. Qutbuddin Bakhtiyar Kaki / ﬁ'&ﬁ?{ ITETIR FrchT
4. Nizamuddin Auliya / fsmeggrer 3itferam

Correct Answer :-

« Shaikh Nasiruddin Mahmud / Q@ FTHTEA AGHSG

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / e amas o
AW 3T ATE & M T F AF e F Fumaia Far

1. Balban / delde
2. Muhammad Bin Tuglaq / g G JdTelch

3. Giyasuddin Tughlaq / TRITgE JITeleh
4. Firoz Shah Tughlaq / TRIST QMTE JdTeleh

Correct Answer :-

« Firoz Shah Tughlaq / ThIST QME JITeleh

54) Kavi Vatsal was a title assumed by which Satavahana king? / “®fd acqa” & o+ fra
HlargsT IS SaRT Hfeqd ar

1. Yajna sri satkarni / I=T 4T Tcaho]

2. Vasisthaputra Pulumavi / GiU8gT GefadT

3. Hala / Tell
4. Gautamiputra Satkani / Tﬁ?ﬂ'—ﬂ'ﬂ? ol

Correct Answer :-



55) International Network of Bamboo & Rattan (INBAR) is located at? / 1 3iX & &1 3T
Acah METANTIR) Fgl W Tyq &2

1. Colombo / STerdl
2. Guwabhati / W
3. Beijing / ifSier

4. Dhaka / GTepT
Correct Answer :-

« Beijing / @ifSior

56) Which of the following strait separates USA & Russia? / fA&afaf@a & ¥ =i ot
srera e 3AR&T 3R w7 A 3rerer FA B2

1. Bering Strait / a9T FTerdld

2. Semiostrovskiy Reid / T13iEgIcEht {15
3. Fram Strait / 1o STeT

4. M’Clure Strait / TH Fedq STl

Correct Answer :-

« Bering Strait / SRIT T

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect on the
environment by the indiscriminate use of the pesticides. Who is the author of this book? / ‘AT
fsier, 1962 # gFRa & AgcAYUl qFAF §1 SH HAUF! F UG ITANT F THAT W
ysa a Yfagd wE F aR # fawr ¥ 59w F AuF Fh @2

1. Annie Dillard / Tl fEerr$
2. Virginia Arthur / FSfifaar 3meR
3. Kathryn Miles / el ASed

4. Rachel Carson / el bl

Correct Answer :-

« Rachel Carson / TSl 1A

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? / frafaf@a
# ¥ FE U5 F AR Fvengeyr AN g qe R



1. West Bengal / ORI 91Tl
2. Tripura / ﬁl’gﬂ

3. Meghalaya / H€Terd

4. Nagaland / ATITTols

Correct Answer :-

o Tripura/ ﬁl’gﬂ

59) Anemometer is used to measure which of the following. / RFIfaf@ad & & Fd A" & AT
TARIAEY T 39ART R S g

1. Wind Velocity / Gae daT

2. Wind Direction / Gdel T e
3. Humidity / 31&aT

4. Air Pressure / d1g €Td

Correct Answer :-

« Wind Velocity / Gael daT

60) Falkland Island is a disputed territory between? / BiFds gdid frad fiT v Rafea &7 &2

1. West Indies and Spain / d¥essra 3R ¥4
2. Uruguay and France / 3%9d 3R WIH

3. Chile and Ecuador / RIelT 3iR S_CIEI'I?T{'

4. Argentina and UK / 3Toférar 3R ?ﬁﬁ

Correct Answer :-

« Argentina and UK / 37SieeT 3R b



